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Q.1 'USHdell ' AT e d@eh iUl 3ATEd ?
Ans X 1. sft<rsisft

X 2. sf\ AR
W 3.7 A glEeaR
X 4 shadsd
Question Type : MCQ
Question ID : 630680330765
Option 11D : 6306801286732
Option 2 ID : 6306801286729
Option 31D : 6306801286730
Option 4 ID : 6306801286731
Status : Answered
Chosen Option: 3
Marks : 2
Q.2 foRmR 2AiATaTE Is Ti=aT MTHARATH S d@=T= A1 i .
Ans o 1. FicgraarE UR
X 2.
X 3. saaufia geft
X 4. 9qd
Question Type : MCQ
Question ID : 630680330766
Option 11D : 6306801286735
Option 2 ID : 6306801286733
Option 31D : 6306801286734
Option 4 ID : 6306801286736
Status : Answered
Chosen Option: 1
Marks : 2
Q.3 Yiedeh U Gt THTUTAEHTTHR 3 3HT8?
Ans X 1. arRda<eff ke g SrgareraT SreT 38,
25 2. aRdaeRft ST g1 SIETaTArdT SHIT 8.
X 3. aEaaesft g g1 SgaTeTaT SMTeT 3178,
o 4. arETaEefl o g1 SgaTerET ST 378
Question Type : MCQ
Question ID : 630680330742
Option 1 ID : 6306801286640
Option 2 ID : 6306801286638
Option 31D : 6306801286637
Option 4 ID : 6306801286639
Status : Answered
Chosen Option : 4
Marks : 2




Q.4 ' dSaTgH AT ST UHR ST AT arerimee T siiear.
Ans X 1. dHEAT

W 2.
X 3. g vl
75 4. o - 1T AR
Question Type : MCQ
Question ID : 630680330747
Option 11D : 6306801286660
Option 2 ID : 6306801286658
Option 31D : 6306801286657
Option 4 1D : 6306801286659
Status : Answered
Chosen Option : 1
Marks : 0
Q.5 '@ures ' T T FHTETST S T,
Ans X 1. f@es e
< 2. dfed e
W 3. 7T, Mo
X 4. e, afea
Question Type : MCQ
Question ID : 630680330749
Option 11D : 6306801286667
Option 2 1D : 6306801286668
Option 31D : 6306801286666
Option 4 1D : 6306801286665
Status : Answered
Chosen Option : 2
Marks : 0
Q.6 '&fder ' ar rearET o Fivm.
Ans X 1.¢fiaR
X 2.9
¥3.aa
X 4. TfgeR
Question Type : MCQ
Question ID : 630680330746
Option 11D : 6306801286655
Option 2 ID : 6306801286656
Option 31D : 6306801286653
Option 4 1D : 6306801286654
Status : Answered
Chosen Option: 3
Marks : 2




Q.7 ' ISRl AT 3 HiTL

Ans X 1.9
X 2. dd
X 3. gdhR
o 4. A
Question Type : MCQ
Question ID : 630680330745
Option 11D : 6306801286649
Option 2 1D : 6306801286651
Option 31D : 6306801286652
Option 4 1D : 6306801286650
Status : Answered
Chosen Option : 4
Marks : 2
Q.8 '@ f&um, wier wefayom ' ar rgufiar aref wE ot ot Fim.
Ans X 1. 9H & 93 w=m
X 2. Ulerd Uek SfoT $iterd Ueh
X 3. ugcid IRAYR
W 4. INTST A& PGS HIG0!
Question Type : MCQ
Question ID : 630680330757
Option 11D : 6306801286699
Option 2 ID : 6306801286700
Option 31D : 6306801286697
Option 4 1D : 6306801286698
Status : Answered
Chosen Option : 4
Marks : 2
Q.9 'IUkR ' et fawgreff eree T .
Ans o 1. ORR
25 2. JmHE
X 3. e guA
X 4 RUBR
Question Type : MCQ
Question ID : 630680330751
Option 11D : 6306801286676
Option 2 1D : 6306801286673
Option 31D : 6306801286675
Option 4 1D : 6306801286674
Status : Answered
Chosen Option : 4
Marks : 0




Q.10 géierdeht sramdfivma Taram=h it ener.

Ans

X 1. ShrshTrEsT
' 2. TSI BRESt
X 3. ead gEend
X 4. RS, TEST

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680330755
6306801286692
6306801286691
6306801286690
6306801286689
Answered

2

2

Q.11 FiEvaTaeaT dISTHETAT=N AT UTgaT=T Hansn, TS gy rAuTET AR e .

Ans

< 1. 71k ST

X 2. FafQest I,
< 3. uror dhoTsft ST
W 4. 359 gUa

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680330761
6306801286713
6306801286714
6306801286715
6306801286716
Answered

4

2

Q.12 'dlisurs ' a1 guMET=n A faurg eiear.

Ans

W 1. disH us
X 2. dfsrdie urs
X 3. dismarurs
X 4. dsnd urs

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680330754
6306801286686
6306801286687
6306801286688
6306801286685
Answered

1

2




Q.13 ' @< "' g1 2regr=T GaTETRT 2reg Fi.

Ans X 1.faze
X 2w
W 3. fuTe
X 4. fowe
Question Type : MCQ
Question ID : 630680330750
Option 11D : 6306801286670
Option 2 ID : 6306801286672
Option 31D : 6306801286669
Option 4 ID : 6306801286671
Status : Answered
Chosen Option : 4
Marks : 0
Q.14 grg faRERARE oM SIeeh areraR= T hivrdt Ig ?
Ans X 1.8, Id "G FIEe! 9oh ATel " TgUTd ST Soei 1.
X 2."®, D, I gAdT RIee! 9o ATel STY gUId 81 Isei .
X 4.9, B, 1d I HTete! Iek ATa! ? 3T TEUId ST I
Question Type : MCQ
Question ID : 630680330743
Option 11D : 6306801286643
Option 2 ID : 6306801286641
Option 31D : 6306801286642
Option 4 ID : 6306801286644
Status : Answered
Chosen Option : 4
Marks : 0
Q.15 '@a: g gH=ar=dT Y= g SUTRT ' AT AEHAHGTE Ueh 205 gl
Ans X 1. @rrasfie
X 2. et
o 3. Wildas
X 4 wesd)
Question Type : MCQ
Question ID : 630680330763
Option 1 ID : 6306801286724
Option 2 ID : 6306801286721
Option 31D : 6306801286723
Option 4 ID : 6306801286722
Status : Answered
Chosen Option: 3
Marks : 2




Q.16 ‘AT AR, qu et ' & rgor gof .
Ans X 1. dTRUT e WS AT

2$ 2. 3nfoy Wi o1 Auara?

g 3. 3 BTt 317t guTent.

75 4. Uo7 gTeRe B 9.

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680330756
6306801286693
6306801286694
6306801286696
6306801286695
Answered

3

2

Q.17 ' aRi=e IS0 ' IT areRTaRTET 31ef Qmter .
Ans o 1. 975 - TS EIOT

X 2. T ot

< 3. eRae Fgor

X 4. ge 30t

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680330758
6306801286701
6306801286702
6306801286703
6306801286704
Answered

1

2

Q.18 'dféye ' 2reara fasgreff 2reg @iy .
Ans X 1.fowm

X 2.9

X 3. @<

o 4. T

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680330753
6306801286684
6306801286681
6306801286682
6306801286683
Answered

4

2




Q.19 ' HISIT=IT AT 10 ' IT arepraRT= 31 9ivm.
Ans X 1. T ek reara sofia e 2ot

X 2. freum gt

25 3. guf gefer ot

o 4. Treg MEE W aRUH giop

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680330760
6306801286712
6306801286710
6306801286711
6306801286709
Answered

4

2

Q.20 ' YR A dum Ay gl Wyl S, ' arerdis gain siea.
Ans X 1. 3

X 2. uTa T

o 3. rioft

X 4 TS

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680330748
6306801286663
6306801286664
6306801286661
6306801286662
Answered

2

0

Q.21 VHTUTAETIHR 3Teh QUeg QAT
Ans X 1. urifyes

o 2. TR
X 3. gRerefien
X 4. uiRamsfes

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680330762
6306801286720
6306801286717
6306801286718
6306801286719
Answered

2

2




Q.22 '3y’ rsgran fawgreff ereg wim .

Ans X 1.91¢9
X 2. @
W 3. 315
X 4 s
Question Type : MCQ
Question ID : 630680330752
Option 11D : 6306801286679
Option 2 1D : 6306801286677
Option 3 ID : 6306801286680
Option 4 ID : 6306801286678
Status : Answered
Chosen Option: 3
Marks : 2
Q.23 =R TR weeht arft o visia TS} AR aTeRrER QAT .
Ans X 1. TThg=aT ShTGaTd
X 2. aréer Sard
X 3. AT i Gietdrd
W 4. TSR RS e
Question Type : MCQ
Question ID : 630680330759
Option 11D : 6306801286706
Option 2 ID : 6306801286708
Option 3 ID : 6306801286707
Option 4 ID : 6306801286705
Status : Answered
Chosen Option : 4
Marks : 2
Q.24 e ITgsht SR A ST 6T ?
Ans X 1.&
X 2. Treargst
X 3. i
o 4. TrcTend
Question Type : MCQ
Question ID : 630680330764
Option 11D : 6306801286727
Option 2 ID : 6306801286726
Option 3 ID : 6306801286725
Option 4 1D : 6306801286728
Status : Answered
Chosen Option : 4
Marks : 2




Q.25 ' ATE TE SIS METAT At & ATeRIvehR 3T .
Ans X 1. usmeff

i 2. Rerareff
X 3. srmameff
75 4. faeeft
Question Type : MCQ
Question ID : 630680330744
Option 11D : 6306801286647
Option 2 ID : 6306801286648
Option 31D : 6306801286646
Option 4 ID : 6306801286645
Status : Answered
Chosen Option : 2
Marks : 2
Section : English Language
Q.1 Select the most appropriate synonym of the underlined word.
Smartphones have become ubiquitous in today's society.
Ans X 1.constricted
/< 2. sporadic
" 3. pervasive
X 4. scarce
Question Type : MCQ
Question ID : 630680277946
Option 11D : 6306801080144
Option 2 1D : 6306801080141
Option 31D : 6306801080143
Option 4 ID : 6306801080142
Status : Answered
Chosen Option: 3
Marks : 2
Q.2 In the following sentence, four words are underlined out of which one word is misspelled.
Find the INCORRECTLY spelt word.
Many evil deeds have been done under the pretenece of religion and faith.
Ans X 1. evil
< 2. under
/5 3. Faith
o 4. pretenece
Question Type : MCQ
Question ID : 630680280080
Option 11D : 6306801088567
Option 2 1D : 6306801088568
Option 31D : 6306801088570
Option 4 1D : 6306801088569
Status : Answered
Chosen Option : 4
Marks : 2




Q.3 Select the most appropriate article to fill in the blank. If no article is required, select ‘No

article’.

At last, the manager arranged

vacant table for our guest in his café.

Ans X 1.No article
< 2.an
X 3.the
w4l a
Question Type : MCQ
Question ID : 630680274273
Option 11D : 6306801065606
Option 2 ID : 6306801065604
Option 31D : 6306801065605
Option 4 1D : 6306801065603
Status : Answered
Chosen Option : 4
Marks : 2
Q.4 Select the most appropriate meaning of the given proverb.
When the going gets tough, the tough get going
Ans X 1. Tough individuals find difficult situations challenging.
/< 2. Tough individuals never give up.
% 3. When conditions become difficult, strong people take action.
25 4. Strong individuals avoid tough situations.
Question Type : MCQ
Question ID : 630680277930
Option 11D : 6306801080079
Option 2 ID : 6306801080080
Option 31D : 6306801080077
Option 4 1D : 6306801080078
Status : Answered
Chosen Option : 3
Marks : 2
Q.5 Select the most appropriate question tag to fill in the blank.
Mom wouldn't like that either, _____________ ?
Ans X 1. will she
#< 2. should she
o 3. would she
75 4. could she
Question Type : MCQ
Question ID : 630680270794
Option 11D : 6306801052363
Option 2 ID : 6306801052365
Option 31D : 6306801052362
Option 4 1D : 6306801052364
Status : Answered
Chosen Option: 3
Marks : 2




Q.6 Select the most appropriate option to fill in the blank.

We not pluck the flowers.
Ans X 1.had
< 2. would
< 3. have

o 4. must

Question Type :

Question ID :

Option 11D :

Option2 1D :

Option 31D :

Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274271
6306801065596
6306801065598
6306801065595
6306801065597
Answered

1

0

Q.7 In the following sentence, one of the four underlined words is incorrectly spelt. Identify the
INCORRECTLY spelt word.

She was startled by their sudden disappearance from the garden, as a few minutes ago they
were frolicking with the children.

Ans 4 1. disappearence
5 2. frolicking
X 3. minutes
< 4. startled
Question Type : MCQ
Question ID : 630680252132
Option 1 ID : 630680978509
Option 2 1D : 630680978510
Option 31D : 630680978508
Option 4 ID : 630680978507
Status : Answered
Chosen Option : 2
Marks : 0
Q.8 Select the most appropriate article to fill in the blank.
The little girl believes that the blood of unicorn is golden in colour.
Ans X 1. No article required
2.2
X 3.the
X 4.an
Question Type : MCQ
Question ID : 630680252129
Option 11D : 630680978498
Option 2 ID : 630680978495
Option 31D : 630680978497
Option 4 1D : 630680978496
Status : Answered
Chosen Option : 4
Marks : 0




Q.9 Select the most appropriate ANTONYM of the given word.

Furnish
Ans  * 1. Deprive
/< 2. Promise
75 3. Revise
X 4. Absorb
Question Type : MCQ
Question ID : 630680274585
Option 11D : 6306801066851
Option 2 ID : 6306801066853
Option 31D : 6306801066854
Option 4 1D : 6306801066852
Status : Answered
Chosen Option : 2
Marks : 0
Q.10 Select the most appropriate meaning of the given idiom.
Tickled pink
Ans X 1. Panic about a situation
o 2. Very pleased or amused with the situation
/5 3. Upto some mischief
#5 4. Sickly appearance as if anaemic
Question Type : MCQ
Question ID : 630680277590
Option 11D : 6306801078791
Option 2 1D : 6306801078790
Option 31D : 6306801078792
Option 4 ID : 6306801078789
Status : Answered
Chosen Option : 4
Marks : 0
Q.11 Select the most appropriate option to fill in the blank.
When | was a student, | a village school.
Ans & 1. attended
/X 2. was attending
Z< 3. have attended
X 4. attend
Question Type : MCQ
Question ID : 630680252093
Option 11D : 630680978354
Option 2 ID : 630680978353
Option 3 ID : 630680978351
Option 4 1D : 630680978352
Status : Answered
Chosen Option : 2
Marks : 0




Q.12 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

All the money / paid with / investors is / now at risk.

Ans X 1. All the money
X 2.investorsis
% 3. paid with

5 4. now at risk

Question Type :
Question ID
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McCQ

1 630680274569

6306801066787
6306801066789
6306801066788
6306801066790
Answered

3

2

Q.13 Select the option that expresses the given sentence in active voice.

Academic degrees were awarded to toppers of the university by the chief guest.

Ans X 1. The chief guest awards academic degrees to toppers of the university.
o 2. The chief guest awarded academic degrees to toppers of the university.

#5 3. The chief guest was awarded academic degrees to toppers of the university.

X 4. The chief guest were awarded the academic degrees to toppers of the university.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status

Chosen Option :

Marks :

McQ
630680274267
6306801065582
6306801065579
6306801065580
6306801065581

: Answered

3
0

Q.14 Select the option that rectifies the error in the given sentence.

| have been paying the electricity bill at 10 a.m. yesterday.
Ans X 1.l had paid the electricity bill at 10 a.m. yesterday.
/X 2.1am being paid the electricity bill at 10 a.m. yesterday.
Z< 3.1 have been paid the electricity bill at 10 a.m. yesterday.

% 4. | paid the electricity bill at 10 a.m. yesterday.

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680252122
630680978467
630680978470
630680978469
630680978468
Answered

4

2




Q.15 Select the most appropriate adverb to fill in the blank.

The spy moved
Ans " 1. stealthily

X 2. recklessly

25 3. gracefully
X 4. indifferently

through the darkened corridors, avoiding detection.

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680252156
630680978603
630680978604
630680978606
630680978605
Answered

2

0

Q.16 Select the most appropriate adjective to fill in the blank.

The______ novel kept readers engrossed until the last page.

Ans X 1.uninteresting
/5 2. tedious
% 3. captivating
25 4. plain

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680252151
630680978586
630680978583
630680978584
630680978585
Answered

2

0

Q.17 Select the most appropriate option to fill in the blank.

My father and |
Ans X 1.reach

New Delhi two days ago.

25 2. are reaching
o 3. reached
75 4. have reached

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680252092
630680978348
630680978350
630680978349
630680978347
Answered

3

2




Q.18 Select the most appropriate ANTONYM of the given word.
Remark

Ans X 1.Explain

25 2. Conclude
%" 3. Neglect
25 4. Note
Question Type : MCQ
Question ID : 630680280084
Option 11D : 6306801088585
Option 2 1D : 6306801088583
Option 31D : 6306801088586
Option 4 ID : 6306801088584
Status : Answered
Chosen Option : 4
Marks : 0
Q.19 Select the most appropriate question tag to fill in the blank.
Your elder brother works for the UN, ?
Ans X 1.didn'the
75 2.isn'the
o 3. doesn't he
X 4. aren'the
Question Type : MCQ
Question ID : 630680270753
Option 11D : 6306801052199
Option 2 1D : 6306801052198
Option 31D : 6306801052200
Option 4 1D : 6306801052201
Status : Answered
Chosen Option: 3
Marks : 2




Q.20 The given sentence is missing punctuation marks. Choose the correctly punctuated
sentence from the following options.

second hand used pre owned cars have their share of advantages and disadvantages and

you must be aware of them to make an informed decision
Ans 4 1. Second-hand, used, pre-owned cars have their share of advantages and

disadvantages and you must be aware of them to make an informed decision.

25 2. Second-hand/used/pre-owned cars have their share of advantages and
disadvantages, and you must be aware of them to make an informed decision.

< 3. Second-hand/used/pre-owned cars, have their share of advantages and
disadvantages and you must be aware of them to make an informed decision.

/X 4. Second-hand, used, pre-owned cars have their share of advantages, and
disadvantages, and, you must be aware of them to make an informed decision.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID

Status

Chosen Option :

Marks :

McQ
630680280570
6306801090517
6306801090518
6306801090516

: 6306801090515
: Answered

1
2

Q.21 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.
The boss / has beenill / for the flu / this week.

25 1. The boss
/< 2. has beeniill

Ans

w3 for the flu
X 4. this week

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680280388
6306801089795
6306801089796
6306801089797
6306801089798
Answered

3

2

Q.22 Which of the following idioms means ‘a short nap’?

Ans X 1. Take the red eye
## 2. Forty winks
/X 3. Astormin a teacup

< 4. Blow smoke

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680252136
630680978525
630680978526
630680978523
630680978524
Answered

2

2




Q.23 Select the option that expresses the given sentence in passive voice.

Someone will demonstrate the game to the children.
Ans X 1.To the children the game will be demonstrated.

/< 2. The game had been demonstrated by the children.
o 3. The game will be demonstrated to the children.

/X 4. The children demonstrated the game.

Question Type : MCQ
Question ID : 630680252886
Option 11D : 630680981523
Option 2 ID : 630680981526
Option 31D : 630680981524
Option 4 1D : 630680981525
Status : Answered
Chosen Option : 2
Marks : 0
Q.24 Three positions have been marked as A, B and C. Where should you place the comma in the
following sentence?
The documentary
[A] that won the Oscars
[B] was about the story of elephant rescuers
[C] which touched the jury's heart.
Ans X 1.B
< 2.ABC
w#3.C
X aA
Question Type : MCQ
Question ID : 630680252115
Option 1 ID : 630680978440
Option 2 ID : 630680978442
Option 3 ID : 630680978441
Option 4 1D : 630680978439
Status : Answered
Chosen Option : 4
Marks : 0




Q.25 Select the most appropriate option to fill in the blank.

lam

o 1. very
< 2.more

X 3.too
X 4.much

sorry to hear it.

Ans

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680274329
6306801065827
6306801065830
6306801065828
6306801065829
Answered

1

2

Section : General Knowledge

Q.1 enffer THTAF AIfER= Gk UNT FEUH TehT STaasard (23 & 29 iR 2014 wfd) Sehichga
18,096,130 |t ITSTEEHA, R AIRRT Wit ieTtch! IO AreTdT RISt geh AT acs

YhiEHA THTARN el AT 3TR?
X 1. gt qeT g
25 2. merslt Sfae satd fam g
X 3. gy gRe fomT ater

W 4. TUTTE ST-2 FrSTT

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680275475
6306801070411
6306801070414
6306801070412
6306801070413
Answered

4

2

Q.2 @il wivrar mfdera g1 3w arareah g A ararerarer fohar <fiead mfdezomer

X 1. gy mfdere
W 2. ufasy e
/X 3. ggresr mfdeRg
X 4 Fafder e

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680269983
6306801049183
6306801049184
6306801049185
6306801049186
Answered

2

2




Q.3 @reiieTi<h! shivTe UTfAeRRoT= TRATTET 2005 HEA HTA?
X 1. T gerar s

W 2. i gl sma
5 3. Hdr asuge s
X 4. diefrema (CBI)

Ans

Question Type :
Question ID :

Option 11D

Option 3 ID
Option 4 ID

McCQ
630680275195

: 6306801069291
Option 21D :
: 6306801069293
: 6306801069294

Status:
Chosen Option :

Marks :

6306801069292

Answered
2
2

Q.4 MS-UlaRUTE= ITSTATHTE T (Run) IT ST STeRTHER ShIUTAT HSTER 15U Shell UTigwt?

Ans X 1. mspowerpnt

o 2. powerpnt
< 3.ppt
X 4. powerpoint

Question Type :
Question ID :
Option 11D :
Option 2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680275398
6306801070105
6306801070104
6306801070106
6306801070103
Answered

4

0

Q.5 WRATN ‘ORefi=ar A=g"AT 7 RIvTeaT Afg-aieaa Feal?
X 1odaa

o 2. SRR & iR

X 3. fedar 3 thgart

X 4. SEdIER

Ans

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status:

Chosen Option :

Marks :

McQ
630680275787
6306801071662
6306801071660
6306801071661
6306801071659
Answered

3

0




Q.6

srgfie afdiags @refier R R .
1) srgfie= affedt &t 1905 T wTu= FTee! Gaddie shifaehRt TaeT gid.

?) IEfaErRt aie snfty |fdis a1y H=ure @ srgfier afadi= snoredt svrét wew gia.

Rt RumdRY wtora/d g/ smd/a?

Ans 1. T
2< 2.1 3nfor 2 e gergl e
X 3. %2
X 4.1 enfor 2 g &t
Question Type : MCQ
Question ID : 630680275812
Option 11D : 6306801071759
Option 2 ID : 6306801071762
Option 3 1D : 6306801071760
Option 41D : 6306801071761
Status : Answered
Chosen Option : 1
Marks : 2
Q.7 ‘Wrist Assured : An Autobiography’ was authored by ____.
Ans X 1.g.0g. deqor
W 2. = 2T M0 SR sfter
X 3. Higmg SRR
X 4. Tasuid ¥ g,
Question Type : MCQ
Question ID : 630680269895
Option 1 ID : 6306801048833
Option 2 ID : 6306801048831
Option 3 ID : 6306801048832
Option 4 ID : 6306801048834
Status : Answered
Chosen Option : 1
Marks : 0

Q.8 UauY g Al i+t Ty vEre wiFeiiv steftat R giwr ufRdia ¥ ddd e

Ans

TS (LiFE) (qafaromaré) sfiaasieh) g @refierddht sivrear srfshansft Gefae smg?

w 1.COP26
X 2.6-20
X 3.67
X 4.BRICS

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680276543
6306801074667
6306801074669
6306801074668
6306801074670
Answered

2

0




Q.9 SHart 2023 AeA, wivrar G FReft sudk Fere 2.0' &1 RieeT digha @risn g dhar?
X 1. SNaRTE SRR Hee

W 2. A WidsafAafg fef dae

X 3. IR Ty o HgTHes

75 4. s arTfore R TR

Ans

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status:

Chosen Option :

Marks :

McQ
630680269950
6306801049051
6306801049054
6306801049053
6306801049052
Answered

2

2

Q.10 ETefieTdeh! ShIvTd TE TUTTel & WRATAT ZUehetl I STATAHRUT WO Qeh 9T ATg1?

Ans

X 1. MeEd
X 2. 7grd
X 3.wn
W 4. Ry

\

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D
Option 4 ID

Status

Chosen Option :

Marks :

McCQ
630680275775
6306801071612
6306801071614

1 6306801071613
: 6306801071611
: Answered

4
2

Q.11 2011 =T SAUNTURFHER, YRAW L Hioren fegieler T1eRedr & Jat= smg?
W 1. T3 (Frgim)

Ans

X 2,918 (IgR)

X 3. 998 (@Heg)

25 4. e et

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D
Option 4 ID

Status :

Chosen Option :

Marks :

MCQ
630680275800
6306801071712
6306801071713

1 6306801071714
1 6306801071711

Answered
4
0




Q.12 1851 AR TH. WREISH, ETETUTS A1RISH, . 3TR. hTHT STT0T TH. TH. STeft gi-il shivrer o=

RITGT hed1?
X 1. U fga @
W 2. GIATS AT g7
X 3. FiRifas g g

Ans

X 4. URE IETATS O
Question Type : MCQ
Question ID : 630680275182
Option 11D : 6306801069242
Option 2 ID : 6306801069239
Option 3 ID : 6306801069241
Option 4 ID : 6306801069240
Status : Answered
Chosen Option : 1
Marks : 0
Q.13 Thgarst 2023 A, FHIUTAT 32 FATH TEATAT HTGHIT d18 SIS ARSI R geft
(ISA) arifor smmu=it ufaRieres uraTed giauiardi= gt (Coalition for Disaster Resilient
Infrastructure - CDRI) TiTREAT Sia=RIEIT HGfa G dhed1?
Ans X 1.¥=
W 2. 9Rd
25 3. 3w
K 4. s
Question Type : MCQ
Question ID : 630680269920
Option 11D : 6306801048931
Option 2 ID : 6306801048934
Option 3 ID : 6306801048933
Option 4 ID : 6306801048932
Status : Answered
Chosen Option : 4
Marks : 0
Q.14 a3 Ao - W Taue= afea amEreas wive R ghiE emg?
Ans X 1. I fawgt areRTHe e RRI S gATYd chet SITd.
72X 2. U NI RTTesT [Ih AT aT0R Shell gt
i 3. T AT SR AR 071 Sad AT,
2 4. TAT gEUAT AguaTaTSt T fAchgeneor dhet STTd.
Question Type : MCQ
Question ID : 630680281045
Option 11D : 6306801092416
Option 2 ID : 6306801092415
Option 31D : 6306801092417
Option 4 ID : 6306801092418
Status : Answered
Chosen Option : 4
Marks : 0




Q.15 2023 7ed, 2aq fiF RTET FRE it ST ISR, wilead a1 Sat=

Ans

Taicheg ‘W 3 R aféfthehe’ g1 QREhR FgTel Shell?

X 1. facrgarsT IS
X 2. 14aE gl IR
W 3. fAmETuzm I
X 4 FER G IedwHd

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680269913
6306801048906
6306801048905
6306801048904
6306801048903
Answered

1

0

Q.16 HIVTAT ARG WRATAT < AT YRAT=AT JR=arrefieri=ar srrafearer, amfdt sifdsr

Ans

(RTI) sifafrgwrear sheta sioroaTan Rt Ioa ~arareraran FHofa aeE srer?

o 1. 13 AR 2019
X 2.12 AgR 2019
X 3. 147 2019
X 4.157RR 2019

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680275210
6306801069352
6306801069351
6306801069353
6306801069354
Answered

1

2

Q.17 26 [t 1876 st @refierd<hi whivflt $fea= srafager=h wura=T heft, Sfi 1885 Aed wReg wdig

Ans

PN RATIT HTeaHaR el fAefs simeft?

< 1. grereTs RISt
g 2. gAY S
X 3. g sl
X 4. ReadsH g

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID

Status :

Chosen Option :

Marks :

McQ
630680275821
6306801071796
6306801071797
6306801071795

: 6306801071798

Answered
1
0




Q.18 ghraar A Foacteh il sitear.

A. YR Qe AT : 1. . SRR
B. Tieret afedq o : Sft. &, maEa
C. Hea2Miereh HHIST : Salfaa et

D. srfgan : &ft. Sft. R

Ans X 1.A CanforD
X 2.B,CanfoiD
& 3. A B afor D
X 4. A Bamforc
Question Type : MCQ
Question ID : 630680275179
Option 11D : 6306801069230
Option 2 1D : 6306801069229
Option 31D : 6306801069227
Option 4 ID : 6306801069228
Status : Answered
Chosen Option: 3
Marks : 2
Q.19 # 2023 HeA, UAuT FRTET Wietlerdeh shivreat wda gy fasra dher?
Ans X 1.di9 3t
W 2. a3
/X 3. TcTthen
X 4 agfden
Question Type : MCQ
Question ID : 630680269899
Option 11D : 6306801048848
Option 2 ID : 6306801048847
Option 3 ID : 6306801048849
Option 4 ID : 6306801048850
Status : Answered
Chosen Option : 2
Marks : 2
Q.20 =1 ARG AHRFTHTER YR AriRear dure snfor fRAfgdiezor et s
Ans X 1.1956
25 2.1954
.‘f 3.1955
< 4.1953

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680276534
6306801074634
6306801074632
6306801074633
6306801074631
Answered

3

2




Q.21 it AT HE=AT 10 31 AFA.

Ans o 1. TR SR
X 2. A= sirgh

X 3. CIC ¥ fRas afidt e
X 4. cve 3 fRas afadt gew

Question Type :
Question ID :
Option 11D :
Option 21D :

: 6306801069289

: 6306801069290

Status:

Chosen Option :

Marks :

Option 3 ID
Option 4 ID

McCQ
630680275194
6306801069287
6306801069288

Answered
1
2

Q.22 UTH HEHIAT ATy 9= 3uars IfLE Sreete ‘sree U= e (‘APY’) @1 1 57 g

R HRUTT ST
Ans X 1.2014
X 2.2016
< 3.2017
W 4.2015
Question Type : MCQ
Question ID : 630680275474
Option 11D : 6306801070407
Option 2 ID : 6306801070409
Option 3 ID : 6306801070410
Option 4 ID : 6306801070408
Status : Answered
Chosen Option: 3
Marks : 0
Q.23 Td MRATAT Sroteat arereid TR glvars e &t g T gRa gragisH giv
ey IR,
Ans X 1.2042
< 2.2030
W 3.2047
#< 4.2035
Question Type : MCQ
Question ID : 630680269921
Option 11D : 6306801048935
Option 2 ID : 6306801048937
Option 3 ID : 6306801048938
Option 4 ID : 6306801048936
Status : Answered
Chosen Option : 4
Marks : 0




Q.24 Gk uTfRYek TSR e st YR AT RiAu srIgd Sl HET AgTeT 9T 8

T U T,
Ans o 1.1884
/< 2.1883
/< 3.1882
< 4.1885
Question Type : MCQ
Question ID : 630680275677
Option 11D : 6306801071221
Option 2 ID : 6306801071220
Option 31D : 6306801071219
Option 4 ID : 6306801071222
Status : Answered
Chosen Option : 2
Marks : 0
Q.25 Which of the following vitamins is acidic?
Ans X 1.Vitamin A
o 2. Vitamin C
25 3. Vitamin K
X 4. Vitamin D
Question Type : MCQ
Question ID : 630680287618
Option 11D : 6306801118382
Option 2 ID : 6306801118380
Option 3 1D : 6306801118381
Option 4 ID : 6306801118379
Status : Answered
Chosen Option : 2
Marks : 2
Section : General Intelligence
Q.1 aofFAER, @refle IR SieR-THgie sitsaidd i gt fafAe uer w9 smga snfor siam
e Teh 7TE TR &hedrd. 1 mersft Sefda aaeen vafa fAaer.
Ans & 1.LM-NO
X 2.GH-HI
& 3.PQ-QR
# 4.BC-CD
Question Type : MCQ
Question ID : 630680273905
Option 11D : 6306801064141
Option 2 ID : 6306801064140
Option 31D : 6306801064142
Option 4 ID : 6306801064139
Status : Answered
Chosen Option : 1
Marks : 2




Q.2 JUIRAIHR, W IR HeR-THgiear Sisaiad {1 gt fRAfe yer war smga sifor sram
a2 ek 7C TR hdTd. 1 Teneft efda qaeten gata At

Ans X 1.JL-PR

X 2.FH-LN
< 3.BD-HJ
..,f 4.0Q - VX
Question Type : MCQ
Question ID : 630680273895
Option 11D : 6306801064101
Option 2 1D : 6306801064100
Option 31D : 6306801064099
Option 4 ID : 6306801064102
Status : Answered
Chosen Option : 4
Marks : 2
Q.3 el ATUTEM 250 It faerear for =mer 50 Teaten fasht fhmdigasT wraer s, @t
Tl TeRhar) foreft amg?
Ans X 1.5%
X 2.50%
2 3.10%
o 4.25%
Question Type : MCQ
Question ID : 630680280404
Option 11D : 6306801089855
Option 2 1D : 6306801089858
Option 31D : 6306801089856
Option 4 ID : 6306801089857
Status : Answered
Chosen Option : 1
Marks : 0




Q.4 AR Ry snfoy e wergdes aran. Rumm RAh arfgdt & smm=agot sra aeaideft
NSS! AT IMTEBA, aI dl T 3T 3 TR oA, e Freepufah wiorar/a frend
ftear farem=isht adheiea sng/smad & a<ar.
faem:

Il Hed, MTSAT 3Tad.

Tehgl WIS, WTeh<l ATEY.
foreend:

(1) T T, WIS 319 2AhdTd.
() 9 wes, T S,

25 1. Teh R (1) 9 S8
X 2. fosas (1) fohar (11) St wengt T et
W 3. B frsad (1) o ame
X 4. Fre (1) sfor (1) @ 2t & emgd

Ans

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :
Chosen Option :
Marks :

McQ
630680256936
630680997656
630680997657
630680997655
630680997658
Answered

1

0

Q.5 210 m i Ter 37 fawg A 4.5 km/h ST ATTON=aT ATOETET 12 Yehaia siidisd. @1

&= & (km/h) fonedt ama?

Ans " 1.58.5
X 2.61.5
< 3.60.5
X 4.59.5

Question Type :

Question ID :

Option 11D :

Option2 1D :

Option 31D :

Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680279366
6306801085731
6306801085734
6306801085733
6306801085732
Answered

1

2




Q.6 QT uTuaT=AT €Tehia 42 | 960 mi uroft 3img. deieft Tesdt s, erdhmYE 9 1 85 ml urvarh

et gid. erehie faret smmone uroft faeeres amd?
Ans 4 1.331875ml

< 2.331825ml
< 3.321825ml
X 4.321875ml
Question Type : MCQ
Question ID : 630680277192
Option 11D : 6306801077244
Option 2 ID : 6306801077243
Option 31D : 6306801077242
Option 4 ID : 6306801077241
Status : Answered
Chosen Option : 1
Marks : 2
Q.7 @reid aRUh i gert fAfAe =g a9 sgd Snfor U & Yeh 7€ a9R dhedid. T Terd 9
THUIRT gafg Rasr.
Ans 1. HRJ
X 2.DBG
2 3.VTY
X 4.NLQ
Question Type : MCQ
Question ID : 630680256960
Option 11D : 630680997754
Option 2 ID : 630680997751
Option 31D : 630680997753
Option 4 1D : 630680997752
Status : Answered
Chosen Option: 1
Marks : 2
Q.8 dl=am
16 +8+4-2x3.
Ans X 1.10
w20
X 3.12
X 46
Question Type : MCQ
Question ID : 630680277164
Option 11D : 6306801077131
Option 2 ID : 6306801077129
Option 31D : 6306801077132
Option 4 1D : 6306801077130
Status : Answered
Chosen Option : 2
Marks : 2




Q.9 QehT AT HaTgr=aT fasg R 12.6 km Sioarandt 21 fAfa anrara. fRR arvarde std=m a

STFOT vaTgT= a7 ai [uiR 7 : 2 318, S vagreat favg 39 43.2 km iR snfor
vaTgreat {42 38.88 km SoaTHTSt T fhdt des (arrimed) nter?

Ans X 1.24
w2138
X 3.16
X 4.2
Question Type : MCQ
Question ID : 630680279379
Option 11D : 6306801085786
Option 2 1D : 6306801085784
Option 31D : 6306801085783
Option 4 ID : 6306801085785
Status : Answered
Chosen Option: 3
Marks : 0
Q.10 @refier Fiferha wsifRvgram (?) Sft @ siet ufgsi?
2,4,8,16,?,64
Ans X 1.56
W2 32
X 3.24
X 4.48
Question Type : MCQ
Question ID : 630680273925
Option 1 ID : 6306801064222
Option 2 ID : 6306801064220
Option 31D : 6306801064219
Option 4 1D : 6306801064221
Status : Answered
Chosen Option : 2
Marks : 2
Q.11 SR 'A' gUrst '+, ‘B’ gurst '+, ‘C’ TguTst 'x’ 10T ‘D’ 1Igurst ‘~', 318, TR @iefiel Iefierzond
usifRigren (?) st s Ader?
35B7D3C4A18="7
Ans X 1.9
< 2.13
w#3.11
X 4.14
Question Type : MCQ
Question ID : 630680271190
Option 11D : 6306801053832
Option 2 ID : 6306801053834
Option 31D : 6306801053833
Option 4 ID : 6306801053835
Status : Answered
Chosen Option : 2

Marks :

0




Q.12 g3z 3 kg 31idt T21 &1 faepar g4t 2nfor 250 @1 5 kg AT farehal. 3102 T Reavarars), @™

foreht arid (kg #eR) faepet uifgsia?
Ans X 1.26kg
< 2.32kg
X 3.56 kg
o 4.34kg
Question Type : MCQ
Question ID : 630680277310
Option 11D : 6306801077689
Option 21D : 6306801077690
Option 31D : 6306801077692
Option 4 ID : 6306801077691
Status : Answered
Chosen Option : 4
Marks : 2
Q.13 UenT foRRTOT gehFER Sieh#t ¥15/kg SITTOT ¥20/kg fohaei=ar g9 wehRa == foheft womoTal
Aaea uifgst, Sules ¥16.50 ufa fore fehadi=r fAsor fAde?
Ans  #1.7:3
X 25:7
X 3.3:7
X 4.7:5
Question Type : MCQ
Question ID : 630680277219
Option 11D : 6306801077350
Option 21D : 6306801077351
Option 31D : 6306801077349
Option 4 ID : 6306801077352
Status : Answered
Chosen Option : 1
Marks : 2
Q.14 P, Q 30T R QehT EThIeAT STehit 9 dT¥Tid, 18 AT STIOY 12 ATid W= QAehdTd. o ETehl WRUATY
T G edTd, P T ufgean arret S dvel, Q 8 $H=aT aTTeT Shid ahedt STfor R &1 fae=an
ATHTEAT HIH e, SO iR o1 quf gidudda &= =eh a1eg Ued. a1 UG- S guf epruamarst
forelt arwi=ht smraghar emg?
Ans 1. 724am9
X 2.15a9
X3 1aw
X 4. 16d™
Question Type : MCQ
Question ID : 630680279408
Option 1 ID : 6306801085900
Option 2 ID : 6306801085901
Option 31D : 6306801085899
Option 4 ID : 6306801085902
Status : Answered
Chosen Option : 2
Marks : 0




Q.15 @refter ST-aferdar e e o arareiis Ui IR a1, (94 =T a1 e Yah-3idhl

Ans

AT 3MTRd.)
(31)341846757634718252952 1 (I)

gre 3121 fohel faww T andq, saiddh uddhi=ar diasaqata et enfor arasdla Far & T

T 9T IR?
X 1.5
W 2.3
X 3.2
X 4.4

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

Chosen Option :

Marks :

McQ
630680257445
630680999686
630680999684
630680999683
630680999685
Answered

4

0

Q.16 A, B 3ATfOY C & Qeh 1 S13eh# 12, 15 31for 20 Radia guf oes 2repara. =i+t g v e,

Ans

& gof groararét ferdt a4 wmite
X 1.8 faw

W 2. 5w
X 3.3fRaw
X 4.6f@a

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680279397
6306801085858
6306801085856
6306801085855
6306801085857
Answered

2

2

Q.17 aufeFATIER, @iefiel TR S1eR-TgrT siisaidd! 6= gert fAfe uer @ snaa sifor si=m

Ans

T8 Teh 7C TR &hdTd. 1 menRft Seifda Faeten vafa A=t
X 1.YC-F

< 2.CG - JN
X 3.Qu-XxB
W 4. KO - RU

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 1D :

Status :

Chosen Option :

Marks :

McQ
630680273896
6306801064106
6306801064103
6306801064105
6306801064104
Answered

4

2




Q.18 @it 31aR-ATferehar e & 1o ARaTeiiel USI= SR &,

(SAMBYTRSICEXZOWAQDFKUGH (3513)

Tra 12ft fohelt aisH snga, Saiddh! U= arasdld aneft Uk @R enfoy argsdle dar EEfiE

Qeh @R 3T8?
Ans X 1.3
X 2.1
w32
X 4.0
Question Type : MCQ
Question ID : 630680257416
Option 1 ID : 630680999570
Option 2 ID : 630680999568
Option 31D : 630680999569
Option 41D : 630680999567
Status : Answered
Chosen Option: 3
Marks : 2
Q.19 R Rum snfor s sergdes aran. fRummsd Reeh mfgd & ar=gut ara auwaideft
S AT TES, a9 Tt T IR 31 T e, e Rshufdhr swtoran/a s
Retear frarizft adhdra smg/smad & s
farema:
fArsepef:
(1) T o1idl, TR 31 *AhdTd.
(Il) T LA, aridt .
Ans o 1. Tk e (Il) I S8
X 2. s (1) foRar (1) Bkt ara! I ATet
X 3. sy (1) smfor (1) & S8 O smea
X 4. % e (1) 9T ammg
Question Type : MCQ
Question ID : 630680256932
Option 1 ID : 630680997640
Option 2 ID : 630680997641
Option 3 ID : 630680997642
Option 4 ID : 630680997639
Status : Answered
Chosen Option: 1
Marks : 2




Q.20 arftfer 20% =M 9 ARRTTETE 16,000 ThAI fAHTE TUHT e AUIR TsheTe TS M.
Ans o 1.32,522

X 2.32,688
X 3.32,488
X 4.32,606
Question Type : MCQ
Question ID : 630680277359
Option 11D : 6306801077886
Option 2 ID : 6306801077888
Option 31D : 6306801077885
Option 4 1D : 6306801077887
Status : Answered
Chosen Option : 1
Marks : 2
Q.21 G 5.5 | 3MERY faerd gaer. ot snfor faear f3oft 3 1925 ml 7@ wraear. &R fa=amens fordt @
freetes amd?
Ans X 1.11375ml
W 2.11575ml
X 3.11475ml
X 4.11275ml
Question Type : MCQ
Question ID : 630680277206
Option 11D : 6306801077298
Option 2 ID : 6306801077300
Option 3 1D : 6306801077299
Option 4 1D : 6306801077297
Status : Answered
Chosen Option : 2
Marks : 2
Q.22 @refierdht i sraR-Tgmed g fRAfe gt smg onfoy e @i G e aaR gl @
TETd T THUTRT 3{&R-THE HIUET 3MT8?
Ans X 1.XAY
X 2.Twu
X 3.JMK
w# 4. DFG
Question Type : MCQ
Question ID : 630680271383
Option 11D : 6306801054604
Option 2 ID : 6306801054607
Option 31D : 6306801054606
Option 4 1D : 6306801054605
Status : Answered
Chosen Option : 4
Marks : 2




Q.23 Rl arferet adhgear yof gloaramd) ? wn sl Frg enet wifgst?

DB151G22 NL36 SQ57 ?

Ans X 1.XV80
X 2.vVT85
W 3.XV85
X 4.VT80
Question Type : MCQ
Question ID : 630680271417
Option 11D : 6306801054742
Option 21D : 6306801054741
Option 3 ID : 6306801054740
Option 4 1D : 6306801054743
Status : Answered
Chosen Option: 3
Marks : 2
Q.24 VA 31 g1 ZE 22 2ft gen fafie a2 9&ifda eng. @r=rvmmt, KD 20 g7 OH 11 2ff Gdfae smg.
Wrefierdehl shiord WO 24 ft defda amg?
Ans X 1.BR15
X 2.cT28
X 3.BU26
W 4. AS15
Question Type : MCQ
Question ID : 630680273868
Option 11D : 6306801063992
Option 2 1D : 6306801063991
Option 3 1D : 6306801063994
Option 4 1D : 6306801063993
Status : Answered
Chosen Option : 4
Marks : 2
Q.25 @refter Atferchd usifR=gran (?) Snft 3a sixft s Rewar watgiga Aasr
11,17, 23,29, 35,?
Ans 141
< 2.49
X 3.43
X 447
Question Type : MCQ
Question ID : 630680271174
Option 11D : 6306801053770
Option 2 1D : 6306801053769
Option 3 1D : 6306801053771
Option 4 1D : 6306801053768
Status : Answered
Chosen Option : 1
Marks : 2




